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No No K4 B 4 1 L L I 15 R A (Vg
1 130 r BT THR G2 R AR 28.42 28.26 56.68
2 146 INE ALY VbRt A4 P a=7T 31.10 30.22 1:01.32
3 141 BE = PN A4V a=T 31.76 30.93 1:02.69
4 140 A Hb KA H— 2 F— /) 32.38 30.68 1:03.06
5 132 Fildl & EHES S 32.11 30.99 1:03.10
6 136 RKE WE JEES S 33.59 31.64 1:05.23
7 135 wmi Xx 1 KR F— A R— 7 33.45 33.34 1:06.79
8 143 Ha B WEEILY 2 =7 34.87 34.05 1:08.92
9 145 ) 3<n PEHS S 36.11 35.29 1:11.40
10 148 PR AT THHS S 36.57 35.01 1:11.58
11 137 R BIE Db A P a=T 37.35 34.66 1:12.01
12 139 e MEEILY =T 37.15 35.67 1:12.82
13 147 RO A VbR A P a=T 36.77 36.63 1:13.40
14 134 Kix = BREILY 2 =T 31.21 1:08.97 1:40.18
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DATA PROCESSING by SE I KO TIMING by SE I KO
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No No K4 e 4 IS
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
NOTPERMITTEDSTART [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
138 I 3 FEILY 2 =7
NOTPERMITTEDSTART [2nd RUN] 0
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